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CC Algebra

Equations and Inequalities Test Review
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1.  Which of the following is the solution for −2x + 1 < 15?

[image: image15.png]



2.  

3.  Ms. Grayson has budgeted $6,500 for a computer lab in her school.  Each new computer costs $750 and each new computer table costs $60.  If Ms. Grayson buys 8 new computers, which inequality can be used to find t, the number of new tables she can buy?


A.  8(750 + 60)t ≤ 6500

C.  750 + 60t ≤ 6500


B.  60t ≤ 6500



D.  8(750) + 60t ≤ 6500

4. The cost of operating an electrical device is given by the formula
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, where W is the power in watts, t is the time in hours, and c is the cost in cents per kilowatt- hour. Solve for W. 

A. W = 1000C –tc


C. W = 1000C + tc

B. 
[image: image2.wmf]1000

Ctc

W

=





D. 
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5. Degrees Celsius and degrees Fahrenheit are related by the equation
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. Solve for F.


A. F = 9c + 27



C. 
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B.  
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D. 
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6.  A rental car at Best Bargain Rental costs $150 a week plus $0.10 per mile.  Which equation represents the relationship between the number of miles (x) and the total cost in dollars (y) for a 2-week rental?


A.  y = 2(150 + 0.10x)


C.  y = 2(150)(0.10x)


B.  y = 2(150) + 0.10x


D.  y = 150 + 2(0.10x)

Solve the given equation for the variable and check.  Write your answer using set notation.

7.   3c – 2(c + 10) = 7c – 5(c + 2)

8.   
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For each of the following word problems, only an algebraic solution will be accepted.

9.   A mechanic charged a customer $25 for parts plus $40 for each hour he worked.  The bill totaled $325.  How long did the mechanic work on this customer’s car?

10.  Aaron needs to take out a loan to purchase a motorcycle.  At one bank, he would pay $2500 initially and $150 each month for the loan.  At another bank, he would pay $3000 initially and $125 each month.  After how many months will the two loan payments be the same?
Solve, graph, and write the solution in set notation and interval notation.  
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A) 11=2x-7<3 C) -1 =2x+7 <3
B) 11=2x-7<-3 D) -11=7-2x<3




11.  −5(x – 4) + 3x > −16

12.  −5 > 4 – 3x > −11

13.  9 – 4g > 17 or 2g + 1 > 1

14.  The sophomore class is planning to sell school mascot puppets to help cover the cost of a class trip.  A local supplier will charge $76.25 for the design and $2.25 for each puppet ordered.  The class plans to sell the puppets for $5.  How many puppets must be sold to earn at least $2,000?

15.  Jamie has a job paying $25,000 and expects to receive a $1000 raise each year.  Wes has a job paying $19,000 and expects a $1500 raise each year.  For what span of time is Jamie making more money than Wes?
16.  Two consecutive odd integers have a sum of more than 66.  Find the two smallest odd integers that will make this true.
17.  Express the following as an inequality. 

a. “Students are to present a persuasive speech in English class.  The guidelines state that the 

speech must be at least 7 minutes long but cannot exceed 12 minutes.”


b.  “Unsafe body temperatures are those lower than 96°F or above 104°F.”
ANSWER KEY – Equations and Inequalities Test Review

1. A
2. A
3. D
4. D
5. C
6. B
7. c = -10 , {-10}
8. m = 21, {21}
9. Let: x = number of hours worked 
           40x + 25 = 325

            x = 7.5 hours

He worked for 7.5 hours
10. Let x = number of months
          2500 + 150x = 3000 + 125x

                             x = 20
11.  x < 18 ; 
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12. 3 < x < 5 ; 
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13. x < -2 or x > 0 ; 
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14. Let x = number of puppets

5x – 76.25 – 2.25x ≥ 2000


   x ≥ 755

At least 755 puppets must be sold

15. Let x = number of years
              25000 + 1000x > 19000 + 1500x
         
       12 > x
                     x < 12

Jamie makes more than Wes when they have been working for less than 12 years
16. Let: x = 1st consecutive odd integer  

    x + 2= 2nd consecutive odd integer 

              x + x + 2 > 66

                     x > 32

                                33 and 35

17.  a.   7 ≤ x ≤ 12



              b.   x < 96 or x > 104
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